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(10 Marks)

(03 Marks)
re the mean was

(07 Marks)
t cost and sales

First Semester MBA Degree Exaryation, July/August 2021

Business Statl,stics
Time:3 hrs. r,,,,,iri."'= Max. Marks:100

Note: 7. Answer,fr,(y FiW fall questions.
2. Table,,ualfiVs given in the ques.ti..gns.
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Explain the functions of statislii$,xll:
Find mean and standard deviatiba from
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(03 Marks)

standard deviati6a from the followins data;
x 10, 2.0 30 40 50".,,1' 60 70 80
\, t'i 30 53 75 r10 1 1:; ti5 (07 Marks)

c. From the prices of X an,:['Y shares, A and B respectively 1;iven below stal.e whtch share ts

more stable in value?
Price of,Share A 55 54 52 ;r,5&:" 56 58 52 50 51 49

Priceof.SH'rre B r08 t07 10t, ftil05 106 r07 104 103 104 l0l
.,,'l\,.,1

..''r[tr,-
DiscusS thffidvanta.:, \
For ii'dei,tain frequency
found to be 1.46. Calcul

rtages and limitatieaffif diagrams and gra$i&*.

luency table, whicfr hrs only been partly reproduced, he

Calculate the missins frequency. N = 200.
No ofaccidents 0 I .;'2::":' 3 4 J

No of.daVs" 46 ?': u,ti? 25 10

's ik correlation coef,-freient between adverfisemen

tatrea.$@

c. Calculate Spearman

a. Explain.ghesignificance in meaiii*ipg dispersion. .1,,," r (03 Marks)

b. DiscuS"S,.,the difference betwqPrr tparametric and non-parametric test. (07 Marks)

c. Mysuru Mahanagar pu1ilqe,,,:srr(vbyed the travel pr$ferences of people who travelled to work
by rain or bus. The initialianllysis suggested,*rat in 5 people travelled by train to work. If 5

':piople are interview,,@, what is the probabilltythat,
,.,,,,,,::,::.'i) Exactly 3 pre$r nelling by train ,... 

''"

ii) Less than 3 piefer travelling by train. ( l0 Marks)
r i::"' f::'_t .:
r,:t.-

a. What is Type I ilffid Type II errors;:s\ (03 Marks)

b. Define the foMbwing terms : ,.

i) Independentevent,..,_,,,,,,,,
ii) Mutually exclusive o,$edI"'

iii) Equally likely event.

from the followins data

Advertisement cost ( I 000Rs.) 39 65, "62 90 82."" ;7s 25 98 36 78

Sales (lakhs Rs;) 47: ,,,53 58 86 62" ,68 60 91 51 84

(07 Marks)

c. Below are siven the o tion (rn thousand tons) ot a

Year 1999 2000 2001 2002 2003 2004 2005

Produetipn 77 88 94 85 91 98 90

i) Fit a-traighffine by the method of 'Least Squares' and show the hend values

ii) What ip thd'monthly increase in productiori?

I ofl

(10 Marks)



5a.
b.

what do you mean by correction? Give any two :ruTpl..: of,ngeative correction'^ (03 Marks)

The hourly wages of 1000 workmen .are-;ormalfy 
aistriUUti round a mean of Rs'70 and

with a standard deviation of Rs.5. Estimate th;-;"*:.I ,'!wt rkers whose hourly wages will

U" 
' 
il Between ns.Oq ;A Rs.72 ii) M9{:.than Rs'75 iii)=tess than Rs'63'

2OMBAI4

nAo- olqrAqrr{ nnrrna rtv curve

Z 0.1 0.2 0.3 0.4i:n 1.0 t.4 1.5 2.0

AREA 0.0398 0.0793 0.t1.79 0,1554" 0.3413 0.4192 0.4332 0.4772

Area

(07'Marks)

c. The sales data of an item
,i :,U! r

in six shops uedfeana after a special promotional campaign ale as

6a.
b.

c.

under: ts(0.05) =2.02
Shons ,.,,ri A, B C D E F

Before camPaigl ..'53 28 31 48 50 42

After campaidit... 58 29 30 55'"". ,'56 45

Under what conditions bin'tdai distribution tends to F'oi,pson distributio"n'

rf 5% of the 
"t""t 

i*.tiilfis manufactured by u.-:,9PPu:y are defective'

alriritrtlon to find,h" pryrqihtv lL"i t",1:T{","i,1,'^19:19: 
n nn7\-J ------

;il;;;;;;"r""rr"{iil 5 buhs willbe defective. (Given : e'':0.007).

Marks ih I
_,,,d;;;,,1

1l|.

edo

What is mode? Give two"E#. ples ofmode'

Intelligent test oftwo gti8#t oft:y1g+4gl

ii) The two regression equations
iii\ The coefficient of correlationiii) TheeoP

Is there a signifieant difference

(10 Marks)

(03 Marks)

use Poisson

(07 Marks)

(10 Marks)

(03 Marks)

following results :

y boys and girls,
(07 Marks)

ten sub-divisions of eqtral area

betweon.
ics nnrl statlsttcs.l'i

Marks in economicst q5" 28 35 32 31. 29 38 34 32

Marks in statistics ..,. 43 46 49 4t. 16 32 3l 30
,{^
.,J 39

7a.
b.

rh...t"i:.r "

ave thebovs and
Meas" ,s.D. N

Girls q5-,, 15 150

Bovs' JO 20 250

in t*ilffin scores obtained

(Test cr : l%r).
c. The following data

il:,,

present thcyietd in quintals ofi.IONS on

of two agricultural lots : ,,''.,',,- 1l,'"'

.". ." ,,

.'.=fddt whether

'"":ftAt 5% level v*r
::;

8 . a. Find : i) Intenftlg{.tile range

,ruFi:

b. Three products rgggygg

Use the Kruskal * Wallies test at ct = 0.05 to

diffe rence., in the pe rformance ratin g o f p roducts'
**tr<rf*

2 of2

iil Oq5diie deviation
: d&iftion forthe followi

vanance.
(10 Marks)

rks)

is a significant
(10 Marks)

B

PLOT _ 1 ,,6# 5.7 6.5 6.0. 6.3 5.8 5.7 6.0 6.0 5.8

PLOT _ 2 rs:6 5.9 5.6 ,5i'. '5.8 5.7 6.0 5.5 5.7 5.5

two salI*fl:i€s
for \Fl J9tat

l"teffiom two"'Siidom population having the same

rd Vr:9 is 3.18).

ii) Cerilfficient of ouartile ddvidfion

Class intefual 0-15 15.'- 30 30-45 45-60 60 -75 75 -90 90 -10s

Frequency 8 t'..' ;:t:': 26 30 45 20 r7 4
10 Ma

the followins performance.

Prodtrct A 50 62 75 48 65

1l1o.o1 =5.9ettPrbduct B 80 95 98 87 90

Product C 60 45 30 58 57

determine whether there


